
A 238 23C 230
1) done 1) 1x~=~=1' 1) 1x2.=.2.=1 1) 1x2.=Q=1£

~x1=.1£=1
3 1 3 616 313 3

2)
2. x§.= 40 = 1. £x~=.2.=14 3 12 2) 2) 2) 2..+2..=5+3 =2.=1'£

1x£=.£=1
8 5 40 3 2 6 15 15 1 3 3

3)
~xI=21=1, 1 x2. = 20 = 12 1 2 3) 3) 3) ~ x§. = 24 = 2.= 11.

4) done 7 3 21 5 4 20 4 5 20 5 5

5) done 4) £ or 2· 4) 2. 4) 24 + 20 = 24+20 = 24 = 2.= 11.
1 5 32 32 1 20 5 5

6)
§.

1 ..1..
~ -i- ~ = ~ x2.= 45 = .1.§.= 3~7 5) 9 ~ 5)

13 5)
4 5 4 3 12 4 4

7) done 4 1 11+ .f.1= 11x 1Q = 110 = 55
8) done

6) 3' 6)
9

6)
6 10 6 21 126 63

9) ~ x§.= 24 = 1..±..= 11. 7) 1x£=..§.=8 7) 2. x~ = 45 = 3~ 7) 5 12 35 12 23
4 5 20 20 5 1 1 1 7 2 14 14 9 30 - 4 30 = 8 30 - 4 30 = 4 30

10) 24 + 20 = 24 = 1...i.= 11 8) §'+1.=~=8 8) 45 ~ 11._ 45+ 14 _ 45 - 3~ 8) 241 -16 .£ =8 .£
32 32 20 20 5 2 2 1 63 . 63 - l' - 14 - 14 3 3 3
954591 9) .Lx.1£ = 84 = 111.= 11.' 9) Ix~=.£1=2Q 9) 7 20 +2 JL = 928 =91.11) -x-=-=-=4-10 1 10 2 2 10 7 70 70 5 8 1 8 8 32 32 32 8

12) 45 + 1Q = 45 = l!. = 41. 84 70 84 14 1 10) .f.1+..§....=21+8 =21=2~ 10) done
50 50 10 2 2 10) 120+ 120 = 70 = 170 = 15 " 24 24 1 8 8 11) done

13) done 11) ~ x§.= 24 ='6 ,/ 2 3 6 .11) -x-=-=3 12) 25 -i- 16= 1196Ibs.14) done 4 1 4 1 2 2

15) 11+ 13=11x..1..=44=22
12) 24 + ...1....= 24 + 4 = J6 12) 2. -l- .£ = 6 +2 = 3' 13) 10x 16 = 160oz.32 32 1 3 3 16 4 6 13 78 39~ li~L- 35 x 2..- 210 - 5'

16) .1.§.+ 2.= .1.§.x§.= 120 =:r- ,. 13) 38+~= 38 x£= 76 =5..1. 13) §.+11 =..§.x.§...=64 =111- 14) 6 . 6 - 6 7 - 42 '
5 2 5 3 15 15' 3 8 3 11 33 33-8 8 8 5 40 15) 5..1+42.=91Q

5559459· 13 74 13 7 -91 14) 1§.+§.=1§.x~= 48 =2
17) -~ -= -x -= -= -=3ml 14) -+-= -x -=- 3 3 3 8 24 8 8 8

3' 9 3 5 15 3 4 7 4 74 296< 9 1~ - 6~ = 3~ I~S.
818648 , 15) H+..1. = 11.x1Q = 140 =2~

18) -+-=-x-=-=16 15) ~ +1. = ~ x§.= 24 ='12 . 5 10 5 1 53 6 3 1 3 16) 8 x 4 x 2 = 64 cu. ft.2 8 2 1 2 16) I +..2..= 1.x.1£ = 84 =4...i.=41.
16) 1S1+1. = 1S1x§.= 78 = 1~ 1 1 2 (J)4 12 4 5 20 20 5 17) - +- = - = 12 2 2,. 06 6 6 1 6 '- 17) 2.+1. = 2. x £ = 1Q = 5 ' c3 3 -17) §.+JL = .2.x 1Q = 2 2 2 1 2 1+'4 = 1'4.ft. o·

::J5 10 5 9 18) 25+Q=25x1=25=1..2..=11.yds Ul

60 = 1 = 11. tt 18) 49 I\:)4 1 4 5 20 20 4 . VJ45 3 3 . »,
18) 2.+Q=2.x1= 20 =4 I\:)

1 4 1 5 5 < w
0



23E
1) ,"+.§.=,"xZ.=11

3 7 3 5 15

2) 14 +.1.§.= 14 + 15 = 11 •
21 21 1 15

3) 1
9

0-l- t = 1~ x ~ = ~~ = % = 4t .

4) 45 + 1Q = 45 +10 = 45 = 2. = 4J..
50 50 1 10 2 2

5) 23 + 11. = 23 x.L = ill = 176 .
5 7 5 17 85 85·

6) .It. +.1 = .It. x 1 = 27 = 1.L
5 3 5 4 20 20-

7) 4.2.-1.1=3'"=31
8 8 8 4

6 7 27 7 20
8) 13 21 - 1121 = 1221"- 1121 = 1 2-1.

1 2 3 -9) 3-+2- = 5- =.6
3 3 3 .

10) .1.§.+ 1£. = 27
20 20 20
27 6 270 120 390 39 19
20 + 10 = 200 + 200 = 200 = 20 = 120'

7 15 22
11) 21 +21 = 21

22 2 110 42 152 4721 + '5 = 105 + 105 = 105 = 1105'

3 4 712) - +- =-
6 6 6
Z. + .1 = 49 + 24 = 73 = 1M
6 7 42 42 42 42-

13) 64.;.-16 = 4 lbs.

14) 6 x 16 = 96 oz.

15) 13.;.-4= 3igal.

16) 1/2x20x5=50sq -.fL·

17) 10 ~ +7 t = 17 ~ = 18 ft; 18 + 3 = 6 yds.

18) 93 + 1£. = 93 x 2.. = 465 = 3 105 = 31. ft
10 5 10 12 120 120 8'

19) 7x7x7=343cu.ft .•
20) 44

23F

1) .§.+-'- =.§. 5<1=.1.§.=.§.
9 3 9 2 18 6

2) .1.§.+ 1§..= 15 + 18 = .1.§.= .§.
27 27 1 18 6

3) 1 + 1. = 1 x 1 = 1. = 11
2 3 2 1 2 2

4) 1 -l- -'- = 3 + 2 = 1 = 11.
6 6 1 2 2.

5) 11+.§. = 11 x§. = 88 = 4JL = 4-'-
4 8 4 5 20 20 51

6) 1£.+ Z. = 1£. x§.= 72 = 2L
5 6 5 7 35 35-

7) 11§.-6.1=5.1
7 7 7'

2 8 18 8 10 58) 316-216=216-216=16=8"

5 20 25 1
9) 5 50 + 2 50 = 7 50 = 72"1

10) 1=.2.=JL
4 8 12

11) 1="£'=~
8 16 24

7 14 21
12) '10 = 20 = 30 (

13) 21.;.-16= ;~ =1156 Ibs.

14) 14.;.-2 = 7 qts.

15) 25 x 3 = 75 ft.

16) .1.§.+ .§.= .1.§.xl = .1§..= 1 lb.
4 1 4 5 20 4

17) 14 x 11 x 9 = 1,386 cu. ft.

18) 1/10

19) 3/4 of 20 = 15 gal. used

20 - 15 = 5 qal, left

5 x 4 ='20 qts. left

20) 50

24A

1) done

2) done

3) 1Q
9

4) 1
7

248

1) 1
2

1
2) 10

3) §. = 8
1

4) 1
2

5) 1.8Z = 72 .18 8
Z=9

6) 8(9) = 72

72=72

1 17) - ·10e = 100·-
10 10

e =10

8) 10(10)=100

100 = 100

1 19) - . 5F = 25 .-
5 5

F=5

10) 5(5)=25'

25 = 25

1 111) - . 2A = 6 . -2 2
A=3

12) 2(3)= 6

6=6

1 113) -·2A=12·-2 2
A =6

1 114) -·58=15·-
5 5

8=3

5) done

6)

7)

done

1·8A = 40.1
8 8

A=5

8) 8(5) = 40

40=40

1 19) - . 3D = 27 .-
3 3

D =9

10) 3(9) = 27

27 = 27

1 111) -·11Y=121·-
11 11

Y = 11

12) 11(11) = 121

121 = 121

1 113) -.3R =12·-
3 3

R =4

1 114) -. 4D = 48·-4 4
D = $12

(J)
o
c...•.
o·
:::J
(j)

I\:)
VJm
I\:)
~
OJ


